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 (a)  Vertex:  FIRST DERIVATE EQUALS ZERO! 

  s(t) = ‒96t2 + 192t + 768 

  s’(t) = ‒192t + 192   à   0 = ‒192t + 192  —> 1 = t   —>   Takes 1 second 

 

 (b)  s(1) = ‒96(1)2 + 192(1) + 768 = ‒96 + 192 + 768 = 864 feet 

 

 (c)  On the ground means height, s(t) = 0 

 0 = ‒96t2 + 192t + 768  —>  0 = ‒96(t2 ‒ 2t ‒ 8) = (t ‒ 4) (t + 2) —>  4 sec to splat 

 (d)  s’(4) = ‒192(4) + 192 = ‒768 + 192 = ‒576 fps (negative since he’s going down) 

17. 



20. b)  Alternate Method — The “Trevor” Method: 

Final Amount is $7600.  Multiply that by the interest, r, 4.5%, converted 

to a decimal of course: —>  7600 * .045 =  $342.00 

Note:  If the numbers in the first 21b) (above) weren’t rounded, the answer would be the same as the 
“Trevor” Method answer, which is, actually, more accurate than using e’s and ln’s! 

Note:  If you don’t round 

any of the numbers in 

this solution, you will get 

$342 even.  The extra 47 

cents comes from round-

ing the number from the 

ln calculation. 

20. 

21. 

 

If you start with 1g, then you end up with 0.72g (72%).  If you start with 100g, 
then you end up with 72g (72%).  It doesn’t matter how much you start with (it’s 
your choice for “P”), so long as you end up with 72% of that amount (A is 72% 
of whatever number you chose for “P”). 

 

!!! 

19. 

t = 2737 years 


